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Guess Paper – 2012
Class – IX
Subject – Mathematics

WORKSHEET

Q1.      (-2,5) is a  point  which is a solution of .

                    a)  x-y=7
 b) y-x=3
c) y-x=7
d) x-y=3

Q.2
The angle of quadrilateral  are in ratio 2:4:5:7 then four angle are.

                    a) 
400 , 800,1000,1400

b) 300,800,1000,1500
                    c) 
1200,900,800,700

d) None

Q.3
If AB CD is a Parallelogram with AE  perp to DC, & CF perp to AD, AB=15cm, AE=8 cm and

             CF= 10cm then AD equal to

                    a)
6 cm

b) 12 cm

c) 3 cm


d) 9 cm

Q.4
The data 29,32,48,50,2x,2x+4,72,78,84,95 is in ascending order and has median=63.The value of x is

[image: image18.png]                    a) 
  62

b) 31


c) 124


d)None
Q.5
In a fig. the value of 
[image: image32.png]CSP
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 is.

                      a) 
500
     b) 800
c) 1000

d) 900 

Q.6
The ring formed by two concentric circles is 7cm wide. The difference between 
circumferences   of the two circles is.

                    a)
   44 cm

b) 3.5cm

c) 7 cm

d)  None

Q.7
The mean, median and mode of 3,4,2,5,7,3,3 are 

                    a)
             3.8,3,3

b) 3,4,3

c) 3,3,3

d) 4,3,3

Q.8
The ratio of volume and surface area of sphere of unit radius is.

                    a) 
3:4

b) 3:1


c) 1:3


d) None

[image: image19.emf]2000 


2001 


2002   


2003 


2004


100


90


80


70


60


50


40


30


20


10


Years


P


r


o


d


u


c


t


i


o


n




2000 

2001 

2002    2003 

2004

100

90

80

70

60

50

40

30

20

10

Years

P

r

o

d

u

c

t

i

o

n

[image: image20.png]


Q.9
On 14th birthday Twinkle  went to sweet shop to purchase some 'burfis' for her friends, she saw there two types rectangle and parallelogram shape burfis. Which shape she must purchase to accommodate more pieces in 1 Kg if perimeter & thickness of both shape are same.

          a) Rectangle shape burfi


b) Parallelogram shape burfi

          c)
  No matter the shape , No of Pieces will same 
d) Cannot said

Q.10
Cone of height 9cm and radius 7cm is melted into cuboid with sides 11cm and 
6cm.

            Its third side. 

a) [image: image21.png]


 6cm
        b) 7cm

c) 5 cm

 d) 10 cm

Q11. Diagonals of rhombus bisect each other at:

(a)  Right  angle     (b) Any  angle    (c)  Obtuse angle     (d) Acute angle

Q12. ABCD and AEFG are both parallelograms. If (C = 60° then the value of ( F is equal to 

(a)  60°   (b)  120°   (c)   80°    (d)   90°[image: image2.png]c
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Q13. ABCD is a rhombus ( ABC = 40°. The measure of (ACD is:

(a) 90°   (b)  20°   (c)  40°   (d)  70°

Q14. M and N are mid points of sides AB and AC. If the length of BC is 15 cm, then length of MN is:

(a) 15/4 cm   (b) 7.5 cm   (c)  15/3 cm   (d)  15.05 cm[image: image3.png]



Q5. Which of the following is not true for a parallelogram?

(a) Opposite sides are equal   (b) opposite angles are equal

                            (c) Opposite angles are bisected by the diagonals  (d) diagonals bisect each other

Q15. x= 5, y= 2 is a solution of the linear equation:

(a) x+2y =7       (b)  5x + 2y = 7     (c)  x+y=7   (d)  5x + y = 7

Q16. Any point on the y axis is of the form 

(a) (x,0)     (b) (x,y)   (c)  (0,y)   (d)  (y,y)

Q17. The graph of the linear equation 2x + 3y = 6 is a line which meets the y axis at:

(a) (0,2)      (b) (2,0)   (c)  (3,0)     (d)  (0,3)

Q18.The graph of y = 2x will:

(a) Pass through origin   (b) intersect y axis   (c) intersect x axis   (d) None of these.

Q19. The equation -y=3, in two variable can be written as;

(a) 1.x+ 1.y = 3   (b) 0.x – 1.y =3  (c)  0.x + 1.y =3  (d)  1.x – 0.y=3

Q20. The value of p if x=2 and y=3 is a solution of the equation 2x + 4y=p:

(a)  4   (b)   6    (c) 16   (d) 18

Q21. The graph of x=4 is a straight line:

(a) Parallel to x axis    (b)  Parallel to y axis   (c) passes through origin   (d) None of these

Q22. If OA is the angle bisector of ( POQ, where ( POQ = 75°. Then the     value of ( AOP is:

(a) 37.5°   (b)  38.5°   (c)   39.5°   (d)  40.5°

Q23. The construction of a triangle ABC, given that BC = 3cm, ( C = 60° is possible when difference of AB and AC is equal to:

(a) 3.2cm   (b) 3.5 cm   (c)  3.7 cm   (d) 2.7 cm

Q24. With the help of ruler and compass, it is possible to construct an angle of:

(a)  35°    (b)   40°   (c) 37.5°   (d)  47.5°

Q25. Any angle in the semicircle is


(a) 900            (b) 1800            (c) 2700          (d) 3600
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Q26.
Curved surface Area of Cylinder is



(a) Лr2           (b) 2Лrl              (c) 2Лrh    (d) Лrl

Q27.
CSA of Dome (hemisphere) is



(a)2Лr2     (b)  4Лrl      (c) 3Лr2       (d) Лrl

Q28.
Mode of 14, 15, 15, 18, 20, 21,21,21,25 is



(a)18   (b)19   (c) 20    (d) 21

Q29.
Find angle (DCP

(a)1400    (b) 1100      (c) 700       (d) 600 

Q30. The mean of 16 numbers is 8. If 2 is multiply to every number, what will be the new mean.



(a) 16    (b) 12    (c) 10     (d) 8

1. Construct a ΔABC, in which BC = 3cm, angle B= 30°. And AB+AC = 5.2cm.
2. Construct a right triangle whose base is 12 cm and the difference in lengths of its hypotenuse and the other side is 8 cm. Also give justification of the steps of construction.
3.  Construct a ΔPQR in which angle Q= 60°, and angle R= 45° and PQ+QR+PR = 11cm.
4. Construct ΔABC in which BC= 4.6cm, angle B= 45° and AB+AC= 8.2cm
5.  Construct a ΔXYZ in which angle Y= 30, angle Z= 90° and XY+YZ+ZX= 11cm.
6.  Construct a ΔPQR in which QR= 4cm, PR+PQ= 8.5cm and angle Q= 60°.
7.  Construct a ΔABC with perimeter 10cm and each base angle of 45°.
8.  Construct a ΔPQR in which QR= 6 cm, angle Q=60°, and PR-PQ= 2cm.
9.  Construct an equilateral triangle of height 3.5cm.
10.  Construct ΔABC with AB+BC+CA= 12 cm, angle B= 60°, angle C= 45°.
11.  Draw a line segment of length 8 cm. Bisect it and measure the length of each side.
12.  Using protractor, draw an angle of 70º and bisect it.
13.  Construct an angle of 105º
14.  Construct a triangle ABC in which BC = 8 cm B = 70º and AB+AC = 15 cm.
15.  Construct a triangle PQR in which Q = 50º, R = 40º and PQ+QR+RP = 17 cm.
16. Solve 7y+15=2y +5 and represent on (a) Number line (b) in the Cartesian plane.
17. If the diagonals of quad. Bisect each other then prove that quad. is parallelogram
18. PQ is chord of a circle with centre O and 
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proves that PQ is of radius 
length.
19. Surface area of sphere is 154 sq.cm. Calculate its volume.
20. Find the median of 2,7,9,13,22,20,25,24,28,27,35,40
21. Complete P(E) +-------------=1         using it find the probability of students passed if 10 students are failed and total students are 40.
22. Find the length of chord of a circle which is at distance of 5cm from the center of 
circle and radius of circle is 13 cm.
23. Find the radius of circle if its area is equal to its circumfrence.
24. In figure ABCD is trapezium. BC=17 cm AB=16, DC=8cm, then find area of trapezium.
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25. Find the quantity of cold milk (in litre) served in glasses of radius =10cm and 
height =15 cm to 350 people.
26. What is the cyclic quad. write its property and what is the value of angle in semi circle using these concept find the value of 
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in cyclic quad. ABCD if 
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AB is a Diameter a circle
27. In the given bar graph shows the annual production of  food grains in a state during the period 
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     Answer the following questions

(1) Find the ratio between the maximum production and the minimum production during the given period.

(2) After which year was there a sudden fall in the production &  calculate the % of fall
28. Prove that parallelogram  on the same base and between same paralle are equal in area.
29. Sonu has x rupees more than Monu has and together they have total y rupee. Form the equation that represent the amount that Monu has.
30. Construct a triangle ABC in which 
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and its perimater is 11 cm.
31. Cards marked with No.s 2 to 101 are mixed in a box. If one card is drawn from box then find the probability that no in card is prime no. less than 20.
32. Show that the bisectors of angles of parallelogram form a rectangle.
33. Prove that the median of a triangle divided into two triangle of equal area.
34. Temparature relation between C and F can be represent by 
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a) Form the equation in terms of x and y draw on graph paper

b) Find the temp. in C for 95 F

c) Calculate the temp. which is numarically same in F and C
35. [image: image25.png]


Prove that the angle subtended by an arc at the centre is double the angle subtended by it at any point on the remaining part of the circle. Using this theorem calculate 
[image: image9.wmf]AEB
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in fig if AB is  a diameter  and chord CD is equal to radius of circle AC and BD are produced to intersect at E.
36. Draw a frequency polygon for the following data:

	Classes
	0-20
	20-40
	40-60
	60-80
	80-100

	Frequency
	4
	10
	15
	8
	3


37. A hemispherical dome of a stupa needs to be painted  if the circumference of the base of the dome is 17.6 m, find the cost of painting it, given the cost of painting is Rs. 250 per sq metre.
38. [image: image26.png]


In a given fig. is DE=EF ? (Given that AB=BC and l//m//n) if yes


Justy it and state the theorem which used to justy it.

39. A piece of ice 3x3x12cm is placed in a hemisphemical bowl of diameter 7 cm If ice melt inot bowl will it over flow on not.
40.  Prove that diagonals of a parallelogram divide it into two congruent triangles.
41.  The angles of quadrilateral are in the ratio 3:5:9:13. Find all the angles of the quadrilateral.
42.  Show that the diagonals of a rhombus are perpendicular to each other.
43.  ABCD is a parallelogram in which E is the midpoint of AD. DF(( EB, meeting AB produced in F and BC at L. Prove that DF = 2 DL.
44. ABCD is a trapezium in which AB(( DC and ( A = ( B = 45°. Find angles C and D of the trapezium.
45.  P is the midpoint of side BC of a parallelogram ABCD such that ( BAP =( DAP. Prove that AD = 2CD.[image: image10.png]



46.  ABCD is a parallelogram, P is a point on AD such that AP = 1/3 AD and Q is a point on BC such that CQ = 1/3 BC. Prove that AQCP is a parallelogram.
47.  A diagonal of a parallelogram bisects one of its angles. Prove that it will bisect its opposite angle also.
48.  Draw the graph of the equation 2x + y = 4. From the graph find the value ox when y=6.
49.  Draw a graph of line 2x – y = 4 and shade the triangular region formed by the two axis and the line.
50.  Construct an angle of 75°.
51. . Give the geometric representation of x = 4 as an equation (i) in one variable (ii) in two variables.
52.  Construct a triangle ABC in which BC = 7.5 cm, ( B= 45° and AB – AC = 4cm.
53.  Show that the points A (1, 2), B (-1, -16) and C (0,-7) lie on the graph of the linear equation y= 9x-7.
54.  Construct a triangle PQR in which QR = 6cm, ( Q =60° and PR-PQ= 2cm
55. The force exerted to pull a cart is directly proportional to the acceleration produced in the body. Express the statement as a linear equation of two variables and draw the graph of the same by taking the constant mass equal to 6 kg. From the graph find the force required to produce an acceleration of (i) 5 m/s2 (ii) 6 m/s2 
56.  Construct a triangle with perimeter 10 cm and base angle 60° and 45° 
57. Find the curved surface area of a cone having slant height 10 cm and circumference of base is 44 cm.
58. Find the total surface area of a sphere having diameter 14 cm.
59. Three cubes each of side 5 cm are joined end to end. Find the surface area of the resulting cuboids.
60. A rectangular sheet of paper 44 cm x 18 cm is rolled out along its length and a cylinder is formed. Find the radius of the cylinder formed.
61. the inner diameter of the well is 3.5 m and 10 m deep find:Inner curved area 
62. A hemispherical bowl made of brass has inner diameter 10.5 cm. find the cost of tin painting it on the inside at the rate of Rs 16 per 100 cm square.
63. The height of a cone is 16 cm and its base radius is 12 cms.find the curved and total surface area of the cone. Use, π = 3.14.
64. Find the lateral surface area of a closed cylindrical patrol storage tank that is 4.2 m in diameter and 4.5 m high.
65. The radius and slant height of a cone are in the ratio 4:7. If it’s curved surface area of this cone is 792 cm2. Find its radius. ( use[image: image12.png]


 = 22/7)
66. The diameter of the moon is one third of the earth. Find out the ratio of the surface area of the moon and earth.
67. A wooden toy in the form of cone surmounted on a hemisphere. The diameter of the base of the cone is 6 cm and height is 4 cm. find the cost of painting the toy at the rate of Rs 5 per 1000 cm2
68. A heap of wheat is in the form of a cone whose diameter is 10.5 m and height is 3 m. The heap is to be covered by canvas to protect it from rain. Find the area of the canvas required.

                                                                          Or

A storage tank consists of circular cylinder with a hemisphere adjoined on either end. If the external diameter of the cylinder is 1.4 m and its length be 8 m. find the cost of painting it on the outside at the rate of Rs. 10 per m2.
69. Find the mean of 13, 19, 25, 60, 49, 36, 30, 32, and 56? And if 13 is misread by 31, what will be the new mean?
70.  ABCD is a cyclic quadrilateral in which AC and BD are diagonals. If  
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71. Two coins are tossed simultaneously. The outcomes of getting tails are recorded. 

	Number of tails
	0
	1
	2

	Outcomes
	22
	16
	12


               Calculate the probability of getting (a) exactly 1 tail (b) no tail (c) at least 1 tail
72. How many liters of milk can a hemispherical bowl of diameter 10.5cm hold?

73. A conical tent is 10m high and the radius of its base is 24m. Find area of cloth used.

OR

Construct   a triangle in which QR = 5cm,   ﮮ Q= 750 and PR-PQ= 2.5 cm.
74. Find the value of a and b such that the following equations may have (5, -3) as a solution  5x + ay = -2
7x+by = 4b
75. If the point (3, 4) lies on the graph of the equation 3y=ax+7, find the value of a?

OR


Draw the graph of the equation 2x + y = 4. From the graph
76. Write the four solutions for the equation  x=4y-1

77. Two circles intersect at two points B and C. Through B, two line segments ABD and PBQ are drawn to intersect the circles at A, D and P, Q respectively (See fig.). Prove that   ےACP =ے QCD
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OR
In Fig. , AB is a diameter of the circle; CD is a chord equal to the radius of the circle. AC and BD when extended intersect at a point E, Prove that ے AEB = 600
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78. [image: image29.png]


ABCDE is a pentagon .and a  line through B parallel to AC meets DC produced at F. Showthat(i)ar(ACB)=ar(ACF)
(ii) ar(AEDF)=ar(ABCDE) 
79. Draw the graph of the equation 2x – 3y =5. From the graph, find the value of x when 
(i) y = 1 and (ii) y = 3 
80. If E, F, G, H are respectively the mid points of the sides of a parallelogram ABCD, show 
that ar (EFGH) = ½ (ABCD).

81. Here is a linier equation that converts Fahrenheit to Celsius:  

                                                              F= ( [image: image17.png]e



 ) C+32

(i) if the temperature is 950F, What is the temperature in Celsius?

(ii) Is there temperature which is numerically the same in both Fahrenheit and Celsius if yes, find it?
82. A bag contains 5 red, 3 green and 2 blue marbles. A marble is selected at random from the bag. Calculate the probability of getting (a) a red ball (b) a blue ball (c) not a blue ball.

OR

            Construct a triangle with base of length 5cm, sum of two sides 7.7cm and one of the    angles of the base as 750.
83. If the mean of the following distribution is 21, find the value of x



x:
10
15
20
25
30







f:
6
10
x
10
8

OR


If the mean of five observations, x, x+2, x+4, x+6 and x+8 is 11. Find the mean of                  the first three observations
84. ABCD is a trapezium with AB || DC. A line parallel to AC intersects AB at X and BC    at Y. 
Prove that ar (ADX) =ar (ACY).
85. Show that the bisectors of angles of a parallelogram form a rectangle.
86. If the work done by a body on application of a constant force is directly proportional to the distance travelled by the body. Express this in the form of an equation into variable and draw the graph of the same by taking the constant force as 5 units. Also from the graph the work done when the distance travelled by the body is 





(1). 2 units   (2). 0 units
87. Construct a triangle XYZ, in which (X=450, (Y=600 and XY+YZ+ZX=10.5cm
88. 2000 families with 3 children were selected at random and the following data is recorded

	      Girl child in family
	0
	1
	2
	3

	No. of families
	475
	814
	111
	600


         Find.

a)  probability of family having 0 girl

b) probability of family having 1 girl

c) probability of family having 2 girl

d) probability of family having more than 1 girl

e) probability of family at least 1 girl
89. [image: image30.png]


 In figure ABCD is a parallelogram and E, F is the midpoints of sides AB and CD respectively. Show that quadrilateral AECF is a parallelogram.
OR

A circular park of radius 20m is situated in a colony. Three boys Ankur, Syed and David are sitting at equal distance on its boundary each having a toy telephone in his hands to talk each other, Find the length of the string of each phone.
90. [image: image31.png]CHITRA stupy PoINT



 It costs Rs.2200 to paint the inner curved surface of a cylindrical vessel 10m deep. If the cost of painting is at the rate or Rs. 20 per m2,find the

(i) Inner curved surface area of the vessel.


(ii) Radius of the base.


(iii) Capacity of the vessel.

OR

       In fig. you see the frame of a lampshade. It is to be covered with a    decorative cloth. The frame has a base diameter of 20 cm and height 30 cm. A margin of 2.5cm is to be given for folding it over the top and bottom of the frame. Find how much cloth is required for covering the lampshade.
91. A random survey of the number of children of various age groups playing in a park are found as follows:

	        Age in years
	No.of children

	1-2
	5

	2-3
	3

	3-5
	6

	5-7
	12

	7-10
	9

	10-15
	10

	15-17
	4


Draw a histogram to represent the above data.
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